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WORD PROBLEM WORKSHEET #1
Integers

Directions:  Show all work. Put answers under problem.

i, The sum of three consecutive integers is thirty-nine. Find the middle integer.

2 Twice the smallest of three consecutive odd integers is seven more than the largest. Find the
three integers.

3. Five times the second of three consecutive even integers is eighteen less than thres times the
sum of the first and third integer. Find the three consecutive even integers.

4. Find three consecutive odd integers such that three times the second number added to twice the
third number is seven times the first number.

5. Find the measure of an angle if its supplement measures 4 less than three
times its complement.



MAY-16-2011 16:32 VCC W.P. Math Support F.002-002

Name S@w-ﬁ()l‘\ls \.M*L m VWML)
—

WORD PROBLEM WORKSHEET #1

Integers
Directions:  Show all work. Put answers under problem.
1. The sum of three consecutive integers is thirty-nine. Find the middle mpé);;l'

ok "X = the (3t infeger fj 3“/%' 3«:; Y=

,\(_+Q<.+D (><+9\> é_MMuﬁ@)
3x+3~aq\,,// %:fj Kt = ikeggn

Twice the smallest. of three consecutive odd integers is seven more than the largest. Find the

2,

three integers. Jet Y= +he _
ax = F+lrd) e |
AX = 1+x Kta=1B
-x  —X RS LI
X=1l
3.-  Five times the second of three consecutive even integers is eighteen less than three times the
sum of the first and third integer. Find the three consecutive even integers.
MX:+MWMQQM*J&+MCMWDWA~WE%MO— /’M xe=lb
3 5X+10 = %S{ - b
S(x+a) =3[ X+ (x+) {- 18 /‘ DX - 1 ;::I(o‘?‘
1. o= \
= - — XY ¥ -
R I Ry L
EX+10= - ) e
- KT =t -
4. TFind three consecutive odd integers such that three times the second number added to twice the
conastufiny odd erFese o

third number is seven times the first number. [e X = +he
B(x+2) 4 B(X44) = FX 142X
A+t aX +8 = IX =

a
géw% FX ﬁ
y ><+q

Find the measure of an angle if its suppiement measures 4 less than three
Q0-X

5.
times its complement. ﬁ& e ﬁuff;ﬁm’i\.w 1§0— X ; |ek ~ﬂ\0_
9—&)? >>§< 2= 2o

130X =3C“%.o~x)-—. f !S’o;—si =
150X = 0 3k -
- 3 'H?O / @

TOTAL P.QO0Z




